Maths Grade 8 Knowledge Organiser

8.1 <u>Manipulate and simplify surds</u>

- $\sqrt{25}$ is NOT a surd because it is exactly 5
- $\sqrt{3}$ is a surd because the answer is not exact A surd is an irrational number

• To simplify surds look for square number factors $\sqrt{75} = \sqrt{25} \times \sqrt{3} = 5\sqrt{3}$

• Rules when working with surds: $\sqrt{a} \times \sqrt{b} = \sqrt{ab}$ $\sqrt{3} \times \sqrt{15} = \sqrt{45} = \sqrt{9x5} = \sqrt{9} \times \sqrt{5} = 3\sqrt{5}$

$$\mathbf{m}\sqrt{a} + \mathbf{n}\sqrt{a} = (\mathbf{m}+\mathbf{n})\sqrt{a}$$

$$2\sqrt{5} + 3\sqrt{5} = (2+3)\sqrt{5} = 5\sqrt{5}$$

$$\sqrt{\frac{a}{b}} = \frac{\sqrt{a}}{\sqrt{b}}$$

$$\sqrt{\frac{72}{20}} = \frac{\sqrt{72}}{\sqrt{20}} = \frac{\sqrt{36} \times \sqrt{2}}{\sqrt{4} \times \sqrt{5}} = \frac{6\sqrt{2}}{2\sqrt{5}} = \frac{3\sqrt{2}}{\sqrt{5}}$$

$$\overline{\nabla} \text{ Square number}$$

• To rationalise the denominator

This is the removing of a surd from the denominator of a fraction by multiplying both the numerator & the denominator by that surd

In general:

$$\frac{a}{\sqrt{b}} = \frac{a}{\sqrt{b}} \times \frac{\sqrt{b}}{\sqrt{b}}$$
 (Multiply both top & bottom by Jb)
= $\frac{a\sqrt{b}}{b}$

<u>Example</u>

 $\frac{6}{\sqrt{12}} = \frac{6}{\sqrt{12}} \times \frac{\sqrt{12}}{\sqrt{12}}$ (Multiply both top & bottom by $\sqrt{12}$) = $\frac{6\sqrt{12}}{12} = \frac{\sqrt{12}}{2} = \frac{\sqrt{4} \times \sqrt{3}}{2} = \frac{2\sqrt{3}}{2} = \sqrt{3}$

8.2 Upper & lower bounds

• If 'a' is rounded to nearest 'x' Upper bound = $a + \frac{1}{2}x$ Lower bound = $a - \frac{1}{2}x$

e.g. if 1.8 is rounded to 1dp

Upper bound = $1.8 + \frac{1}{2}(0.1) = 1.85$ Lower bound = $1.8 - \frac{1}{2}(0.1) = 1.75$

Calculating using bounds
 Adding bounds
 Maximum = Upper + upper
 Minimum = Lower + lower

Subtracting bounds

Maximum = Upper - lower Minimum = Lower - upper

Multiplying

Maximum = Upper x upper Minimum = Lower x lower

Dividing

Maximum = Upper ÷ lower Minimum = Lower ÷ upper

8.3 <u>Solve quadratic equations by formula</u> $x = \frac{-b \pm \sqrt{b^{2} - 4ac}}{2a}$ <u>Example</u> To solve: $3x^{2} + 4x - 2 = 0$ a = 3 b = 4 c = -2 $x = \frac{-b \pm \sqrt{b^{2} - 4ac}}{2a}$ $x = \frac{-4 \pm \sqrt{(-4)^{2} - 4(3)(-2)}}{2(3)}$ $= \frac{-4 \pm \sqrt{16 + 24}}{6}$ $= \frac{-4 \pm \sqrt{40}}{6}$ $x = \frac{-4 \pm \sqrt{40}}{6}$ OR $\frac{-4 - \sqrt{40}}{6}$ x = 0.39(2dp) OR -1.72(2dp)

8.4 <u>Solve quadratic equation by</u> <u>completing the square</u>

- Make the coefficient of x^2 a square $2x^2 + 10x + 5 = 0$ (mult by 2)
- $\Rightarrow 4x^2 + 20x + 10 = 0$
- Add a number to both sides to make a perfect square
 4x² + 20x + 10 = 0 (Add 15)
 - $4x^2 + 20x + 25 = 15$

$$\Rightarrow (2x+5)^2 = 15$$

• Square root both sides $2x + 5 = \pm \sqrt{15}$ (-5 from both sides) $2x = -5 \pm \sqrt{15}$ $x = -5 \pm \sqrt{15}$ OR $-5 - \sqrt{15}$ 2 = 2x = -0.56 OR -4.44 (2dp)

8.5 <u>Simplify algebraic fractions by</u> <u>factoring & camcelling</u> Example

 $\frac{2x^{2} + 3x + 1}{x^{2} - 3x - 4}$ (factorise) = $\frac{(2x + 1)(x + 1)}{(x - 4)(x + 1)}$ (cancel) (x - 4)(x + 1)

 $= \frac{(2x+1)}{(x-4)}$

8.6 Transformation of functions

f(x) means 'a function of x' e.g. $f(x) = x^2 - 4x + 1$ f(3) means work out the value of f(x) when x = 3 e.g. $f(3) = 3^2 - 4x3 + 1 = -2$

In general for any graph y = f(x) these are the transformations

y = f(x) + a	Translation (0)
	\ a/
y = f(x+ a)	Translation / -a
	\o/
y = -f(x)	Reflection in the x-axis
y = f(-x)	Reflection in the y-axis
y = af(x)	Stretch from the x-axis
	Parallel to the y-axis
	Scale factor=a
y = f(ax)	Stretch from the y-axis
	Parallel to the x-axis
	Scale factor= <u>1</u>
	a







Vector \overrightarrow{CD} is twice (scalar 2) the magnitude but same direction so we say:

A negative scalar would reverse the direction

• Vector addition

Adding graphically, the vectors go nose to tail

$$\underline{a} = \begin{pmatrix} 3 \\ 2 \end{pmatrix} \quad \underline{b} = \begin{pmatrix} -2 \\ 2 \end{pmatrix}$$



The combination of these two vectors:



• Vector subtraction Adding graphically, the vectors go nose to tail

 $\underline{a} = \begin{pmatrix} 3 \\ 2 \end{pmatrix} \quad \underline{b} = \begin{pmatrix} -2 \\ 2 \end{pmatrix}$



The combination of these two vectors:







The vector AB is equal to the sum of these vectors or it could be a different route:



8.11 <u>Probability – Tree diagram for</u> <u>successive dependent events</u>

When events are dependent, the probability of the second event is called a conditional event because it is conditional on the outcome of the first event

<u>Example</u>

2 milk and 8 dark chocolates in a box Kate chooses one and eats it. (ONLY 9 left now) She chooses a second one This can be shown on a <u>tree diagram</u>

